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Important Notes

e The favored direction of the reaction is the one in which the We ake [ acid/base are
produced. .
e The stronger an acid is, the WG,O\ke»r its conjugate base (and vice versa).

e Diluting an acid ( i/concentration)will ji pH and [ percent ionization.
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Practice, practice, practice!

1. Calculate the pHofao.020M solution of hydrochloric acid.
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2. Calculate the pH and percent ionization of a 0.020 M solution of acetic acid (K. = 1.8 x 1075).
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3. Calculate the pH for a 1.7 x 107 M solution of KOH.
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4. Calculate the pH and percent ionization for a 1.7 x 107 M solution oFNTI;' (Ko = 1.8 x 103).
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